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Introduction

MDT for MR-DC has been touched in RAN2# 113e meeting. Related progress copied below:
1: In case split bearer data goes through Xn/X2 interface, the delay over Xn/X2 interface should be taken into account in M6 for split bearers.

2: D3 is re-used to reflect the DL delay on F1-U/X2/Xn, D2.3 is re-used to reflect the UL delay on F1-U/X2/Xn, LS to RAN3 for further confirmation.

3: The delay over Xn/X2/F1-U interface should be taken into account in M6 for MN terminated SCG bearers and SN terminated MCG bearers.

Based on RAN2’s progress, this contribution provide our view on MDT for MR-DC.
Discussion
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Figure 1: SN terminated MCG/split bearers and MN terminated SCG/split bearers
As shown in figure 1, it’s RAN2’s understanding the delay over Xn/X2 interface should be taken into account for M6 measurement. 

The definition of D3 and D2.3 can be found in TS 38.314:

	D3 (DL delay on F1-U), referring to Average delay on F1-U in TS 28.552 [2] 5.1.3.3.2

D2.3 (average delay UL on F1-U, it is measured using the same metric as the average delay DL on F1-U defined in TS 28.552 [2] clause 5.1.3.3.2)


The uplink and downlink of the delay are actually the same as defined in TS 28.552. As defined the gNB-CU-UP can calculate the uplink and downlink average delay based on GTPU. In the same way, the PDCP in the MN terminated split Bearer , MN terminated SCG Bearer, SN terminated Split Bearer and SN terminated MCG Bearer can calculate X2/XN delay for the bearers. After calculation, MN or SN can provide the result to one device for whole delay of split delay.

Proposal : From RAN3 point of view, it is feasible that D3 is re-used to reflect the DL delay on F1-U/X2/Xn, D2.3 is re-used to reflect the UL delay on F1-U/X2/Xn.
3. Conclusion

In this contribution , the observation and proposals are:

Proposal : From RAN3 point of view, it is feasible that D3 is re-used to reflect the DL delay on F1-U/X2/Xn, D2.3 is re-used to reflect the UL delay on F1-U/X2/Xn.

4. References

_1234567890.unknown

